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1

Ifg T arered A 120 FIAFT F QA 60 Thes & foIU JaTied gl & o dleldh H URT

If 120 Coulomb of charge passes through a conductor in
conductor is

(@ 05A

(b) 2A

(c) 3.33mA

(d) 0.3 mA

gfaerd dteedr AaH T e x 100
(aﬁ VL= A-as EﬂRFIT) VL= Pl mm)

Percentage voltage regulation =

60 sec, the current in the

x 100 ; (Where Vn =No

Load Voltage, Ve =Full Load Voltage)

@) (VnL-Vr)/VEL
(b) (VNL-VFL )V
() Ve/VaL
(d) VnU/VeL

230 V ofFd aseT & e 60 W dod AWK H g1 IfS TF Sod ol I1a7 ar

Three 60 W bulbs are in parallel across the 230 V power line.

(a) HET olige H SATET R grefy
there will be heavy current in the main line
(b) 31 &Y Toa JHITRAT AGT grar
rest of the two bulbs will not light
(c) T3 N Toa ToRITRIT 8T g
all three bulbs will not light
(d) 37T &I Tod TehIfd o
the other two bulbs will remain glowing

FfHeT & a0 g1y 1 AL, TR ETEL BIAT &
Fleming’s left hand rule is applicable to

(a) dc ST=1¥ex / dc generator
(b) dc AreX / dc motor

If one bulb burns out
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(c) wearafd= / alternator
(d) PR / transformer

5  gfg & & amar 2800 mAh g, dr I ....... & o 1.4A 9rT 3Mqfed &
If the capacity of a battery is 2800 mAWh, it can supply 1.4 Ampere current for

(a) 200 f&s1e / 200 minutes
(b) 100 f&s1e / 100 minutes
(c) 120 f&=1e / 120 minutes
(d) 240 fA=1c / 240 minutes

6 o e, TH vcdeh &1 em.f. 2V § 3R RS TieRIer 0.5Q & @er # st I/ gl

Five cells, each with an e.m.f. of 2V and internal resistance of 0.5Q are connected in
series. The resulting battery will have

(@) 2V &1 em.f. 3K 0.5 Q &7 3fdRe FfaRe

An e.m.f. of 2V and an internal resistance of 0.5 Q
(b) 10V @1 e.m.f. 3R 2.5 Q &1 377aRe gfaRrer

An e.m.f. of 10V and an internal resistance of 2.5 Q
(c) 2V & e.m.f. 3T 0.1 Q &7 3R FfcRrer

An e.m.f. of 2V and an internal resistance of 0.1 Q
(d) 10V &1 e.m.f. 3R 0.1 Q Fr AdARE FfeRer

An e.m.f. of 10V and an internal resistance of 0.1 Q

7 WU-HT IR RU-SEA PR A, faegd afed ... # 9Rada & foar s aRoy &
gaY Ry & FARART gl §
In a step-up or step-down transformer, electrical power is transferred from one circuit to
another without change in

(a) dreear/ voltage
(b) @R/ current

(c) 3mgf/frequency
(d) emRxar/ capacitance

8  3feas ofFa Tr=iaRa a9 giar & s«
Maximum power is transferred when

(a) oS wfderer > & gidemer
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10

11

12

Load Impedance > source Impedance
(b) <z ufdemar < &Ea gfdemer

Load Impedance < source Impedance
ORGIERIGERIERS GRS TCIGI

Load Impedance = source impedance
(d) sz gfdemar=20

Load Impedance =0

D.C. aftuyr & afdd ges gaerm g &
The power factor of a D.C. circuit is always

(@) sHE A HA/ less than unity

(b) 8IS/ unity

(C) 3T & STeT/ greater than unity
(d) ==/ zero

AC gy 7 ey hr feem g
The direction of current in an AC circuit

(a) THRIcHA® A RHUTNcHAS /  is from positive to negative.
(b) gHemTe fgem# / is always in one direction.

(c) &foT ‘e7ur H gRadr / varies from instant to instant.
(d) fruifa sigt fRam ST dsar / cannot be determined.

S weadh Ts & v Sl @ @ifeufad ggea &1 s §
Which topology is used for a central Network controller

(@) arr/Star
(b) SITeT/ Mesh
(c) ger@/Ring

(d) fiq @ fdg/ Point to Point

FET & fou farafaf@a & @ a& Rdeea ala-ar €72
Which of the following option is true for FET ?

(a) afa- gdrr/bi-polar
(b) & geqe wfdsmer/ low input impedance
(c) em Ay giFd/ Is a current controlled device
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13

14

15

16

17

(d) qgaw dTgehl SaRT WaTTeld / operates with majority carriers

10 V &7 3791 A9 U Sisris & Ay Sisr a3 § 9ur 1 KQ &1 9faiy s & ary
G H SST 9T &, o SRS § garfed arr gram
A forward potential of 10V is applied to a Si diode. A resistance of 1 KQ is in series with

the diode. The current through the diode is
(@ 10mA

(b) 9.3mA

(c) 0.7mA

(d) 0mA

Tfaf@a & & «la ar gfokius ges §
Which of following is a resistive component

(a) Ta&3/LED

(b) wrer s™s/ Photo diode
(c) Terdr3m/LDR

(d) Tadr3m/SCR

Teh giffeel &1 B =200 §, I TIgsh ORT 15 MA, § df 98 9RT .......... gt

A transistor has a typical value of B = 200 , If the collector current is 15 mA, then base
current will be

(@ 0.75mA

(b) 0.3mA

(c) 0.075mA

(d) 7.35mA

Windows is a

(a) wranfFer $19T / Programming language

(b) 3ffesT 3meR / Data base

(c) 3fToRfesT yotelr / Operating system

(d) arrg 37cRoT Yiethier / Date transfer protocol

Op-amp S dlecdl Halgeh & HI alecdl ofeH....... g gl
An Op-amp as a voltage follower has a voltage gain of
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(@) 3raEd/ Infinity
(b) ==/ Zero

(c) s&1s/ Unity
(d) 31 A FF/ Less than unity

18 @reeT aReT T i AT 200 V §, aF 3@ aa A g
The peak value of a sine wave is 200 V. Its average value is

(@) 127.4V
(b) 141.4V
(c) 282.8V
(d) 200V

19 AC. 9Ruy &7 goqe foger 0.8 ofFa auns (lagging) 40 kVA 9R9y g@rr 3meRd
afed Bl

The input of an A.C. circuit having power factor of 0.8 lagging is 40 kVA. The power
drawn by the circuit is

(@ 12 kw
(b) 22 kw
(c) 32kw
(d) 64 kw

20 ForE B Y- Yol Ttk I &I gl §
The efficiency of a class B push-pull amplifier is

(a) 90-95%
(b) 95-100%
(c) 60-65%
(d) 75-80%

21 Afcccaddr 16:1 & AT 3Maegs HIF0T g 6 T&IT..... §
Number of control lines required for 16 to 1 multiplexer is

(@) 2
(b) 3
(c) 4
(d) 16
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22

23

24

25

ST IS T ST § ar F AT BT &
When the diode is forward biased, it is equivalent to

(@) T 3% Fa= / An off switch
(b) we 371 &&=/ An On switch
(c) Te 3T faRreres / A high resistance
(d) ues 3Ta emika /A high capacitance

Light travels along optical fibers by

(a) 319adsT / Refraction
(b) wRrader / Reflection
(c) wfeolar/ Scattering
(d) et 3iicTRes WRract=l / Total internal reflection

gferger fis@rforT & A+B
In Boolean Algebra A+B =

(@) A+B

(b) A*B

(c) A+B

(d) B+A

T FUTRT AR F3 TARAAR H &, A 3o e o
A capacitor and coil in parallel is called

(a) 3r7&9 gRTY / Tuned Circuit
(b) et aikaer / Timing Circuit
(c) faeie aRgy / Delay Circuit
(d) AT gRga/ Schmitt Circuit
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26

27

28

29

30

Parity bit check is used to

(a) 1 fae 3fe s aar =M= / Detect 1 bit error

(b) 1 fee 3fe srgur=/ Correct 1 bit error

(c) 1 foe 3fe var o=t 3R FeRet / Detect and correct 1 bit error
(d) 2 fee 3fe gurar/ Correct 2 bit error

IC 555 is used for

(a) arecdr faa=or/ Regulating voltage

(b) wa¥e 39erey &=/ Providing amplification
(c) ©eeT/ Filtering

(d) erfers s=1aAT / Making oscillator

dieedl g & U 3uged gikd
The device used for voltage regulator is

(a) Tepiceht 3AE/ schotky diode
(b) =X 3rAE/ zener diode
(c) a¥FeX s1AIE/ varactor diode
(d) <eTer 3rATE / tunnel diode

gfazmamyr 10111 & gHAT AT ...ooevvevee.... BT &
The decimal equivalent of binary 10111 is

(@ 27
(b) 19
(c) 23
(d) 21

PCM &1 31 &
PCM stands for

(a) e| HRAT ASelT/ Pulse carrier modulation

(b) 9TsFI HIs ATZelT / Primary code Modulation

(C) Ued IS AgeleT / Pulse code Modulation

(d) 9rgedy defet Agers / Primary channel modulation
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31  39UR GfeddesT deelle ... & T ggad gidr &
Successive approximation technique is used for

(@) A & D9RadsT / Ato D Conversion
(b) D & AdRada= / D to A conversion

(C) ATIHATA ¥ dreedr ikadeT / Temperature to voltage conversion
(d) Tapfar & deear aRace / Strain to voltage conversion

32 200 Hz 3mgfar & T 3mad Fret........ gam
For a frequency of 200 Hz, the time period will be

(@ 0.05s
(b) 0.005s
(c) 0.0005s
(d) 05s

33 gACle TG & TH B & [T Uh [AY Femad ggEdT g @
A typical solvent used for cleaning of Electronic assemblies is

(a) 3msAT graTSe Yealgdl / Iso Propyl Alcohol
(b) derer/ Petrol
(c) FrEfes ster /Carbonated Water

(d) ga=msersi=T/ Liquid nitrogen

34 3ifd gew TAEY & A & U gerdl 39 & 39ged gl §
Very small displacements are effectively measured using

() TdEHA/LVDT

(b) #FEERT/ Multimeter
(c) ufFAFex/ Thermistor

(d) <epr-=ifaT/ Tacho-generator

35 w& 4 f§¢ &1 F3eX 0,1,2........ N de &I I0TAT F GohdT § dar “n” T AT FAT R ?
A 4 bit counter is used to count from 0,1,2...n. Value of “n” is
(@ 16
(b) 15
(c) 32
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(d) 31

36 CRO # Y-37 ........ &1 gfdr &
Y —axis in a CRO normally represents

(a) 3mgfI/Frequency
(b) dreedr/Voltage
(c) §#a"/Time

(d) 3mafer/Period

37 yfous & &7 @ A Hegar giRd & §
The gold color code in a resistor indicates a tolerance of

@ 1%
(b) 5%
() 20%
(d) 10%

38 die g 3m3eye et g 8, Ife 3R afe |ef geiqe 3=w §
The gate whose output is LOW, if and only if all the inputs are HIGH, is

(a) NAND
(b) NOR
(c) OR
(d) AND

39 eIfaf@d # @ Hlaar 9ok A9 & [T gged giar §
Which of the following is used for resistance measurement

(a) as<Tac/ Wein bridge

(b) dreEerst A / Wheatstone bridge
(c) Hergdel &7 / Maxwell Bridge
(d) AR AT / Schering bridge

40 e & F vged Sfaied 7 Ieafld aot 8 (38 Fa ) drer, S, aeh AR aidr g, o
3THT AT gl

A resistor used in colour TV has the following colour bands (in this order): yellow,
violet, orange and silver. Its nominal value is
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41

42

43

(@) 4.7KQ+10%
(b) 4.7KQ£5%
(C) 47 KQ+10%
(d) 470Q+5%

ESD &7 37T gl
ESD stands for

(a) solteer Terfes f3arsst/ Electrostatic Device

(b) searcr dfafea f3argsr/ Electro sensitive Device
(c) sorer dfAfea f3warst / Electro sensitive Discharge
(d) seirerer Terfes f3&areT / Electro static Discharge

37TBTUTT Ul T 39gter PCB HASTht #............... & forw foham Srar &
Conformal coating is done in PCB assemblies to

(a) sof gur=r / Improve strength
(b) =T#T 3R HEUT @ gelerciferrd s s / Protect electronics from Moisture and

contamination
(c) Tarer areedr 3T/ Increase withstanding voltage

(d) @tedazsh guraT/ Improve aesthetics

TS foeg # AR &7 fgam ... gfad & &
The arrow direction in the diode symbol indicates

(a) SoiareleT sgTa o fgem/ Direction of electron flow.

(b) o< sgra Fr fgam (v arT Fr feem) / Direction of hole flow (Direction of conventional

current)
(c) ©c Jgra & fgam (& faadia) / Opposite to the direction of hole flow

(d) 3.ua e St fgam/ Direction of EM field generated

Resistance of a copper wire decreases when ...................... increases

(@) weTS/ length
(b) QAT / temperature
(c) faegd Aush/insulation
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45

46

47

48

49

(d) <ara/diameter

AFIAfa # A aT A geRT HuT ST AT §
Which is the lightest particle among the following

(a) e/ Proton
(b) 9xATT/ Atom
(c) =ggre/ Neutron
(d) sererereT/ Electron

tF Ay aRoy Sis # AWG 22 & sgaf AWG 18 aR & 93« fohdm S1ar g, 39T
HROT § T 3T ... 3

In a particular circuit connection, AWG 18 wire is selected over AWG 22. The reason is
that it is having

(a) 3T YRT dgeT el hl &TAAT / Lesser weight

(b) e AES / Less thickness

(c) 3Tagfarrer/ Higher resistance

(d) 3T YRT ag=T H= S &7/ Higher current carrying capacity

Sl AT IRIY Gk IRIY URT & dGolld T AN HIEm
Which circuit element(s) will oppose the change in circuit current ?

(a) f&% e / Resistance only

(b) &% 9Rar/ Inductance only

(c) &% arfixar/ Capacitance only

(d) 9R&Rar 3R arikar/ Inductance and capacitance

The frequency range of FM radio is

(a) 555KHzto 1.6 MHz
(b) 2GHZ to 4GHZ
(c) 20Hz to 20KHz
(d) 88MHz to 108MHz

Us {399 Hiest dUed 9T 93T PCB # gesh Ao & v foam arar &
Page 12 of 18



Technician-B (Electronics-Mechanic)

Question Booklet Series - D

50

51

52

53

A typical Solder composition used in component assembly to PCB is

(2) #rar 3R TiEr / lead and silver
(b) @rar 3R are / lead and copper
(c) @@rar 3Rk i / lead and zinc
(d) @ar 3k &= / lead and tin

qrax SITATERT & AT FSAT AHTRIA....... CaRT ST 7T §

Power transistors with heat sink are fixed by

(a) dessT/ Welding

(b) sereT fafer/ Fastening
(c) sifser/ Bonding

(d) ef¥er/ Taping

gy &1 ggare / Identify the circuit

1mH
100kQ2
(@) & urd fheex / High pass filter
(b) dzura fheex / Bandpass filter
(c) < 9re fhee / Low pass filter
(d) &3 Rerge fee / Band reject filter
GICCCTG IS Cr: A & Toeurd 9T 3meariRa &

Thermocouple is based on the principle of

(a) Tres 9T / Seebeck effect
(b) wr=w T / Faraday’ law
(c) oisT fag# / Lenz law

(d) st ==& / Gauss law

fFfaf@d & & FiaT @1 Al - dreiesd AAT §
Which of the following is a Non-volatile Memory

() RAM
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54

55

(b) DRAM
(c) EEPROM
(d) Cache

farafaf@a aigy & AR B & &g saiar =1 ¢
What is the potential difference between A and B of following circuit

B A

1
'l
.

104 10
—
2, B
(@ 8v
(b) 26V
(c) 14V
(d) 32v
arEdfas gRolt & e giad H
Identify the gate from truth table
INPUT OUTPUT

A B

0 0 1

0 1 0

1 0 0

1 1 1

(@) NOR
(b) NAND
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(c) XNOR
(d) XOR

56 farfaf@a aRuy 7 gfiue & R W) gefea dawer gefr
The wave form across the resistor of the circuit given below can be represented by

7
7
ta}- Vo l:‘b} F‘,"'u t
t o
7o . - Vo
© Vo @Y
t t
57  AC a9y & gerferd ag & TElunn..... ¥ T yged @ar &

In AC circuits, laminated iron is invariably used in order to

(@) TSSY ury &7fd &l A F / reduce eddy current loss
(b) T fafeor sIerst et / increase heat radiation

(C) TSI ! FEAT R FordT 5= / make assembly cheap and easier
(d) IR IRETFTAT A 6T/ reduce circuit permeability
58  HHTET sheol HT Jolell H ] TR & W oM .....oooo g

Main advantage of fiber optic cable over co-axial cable is

(a) 3maTeT g¥deT / easy handling
(b) =& #AX/ less weight

(c) sa&fa/low loss

(d) 31raTeT gdeTuT/ easy testing

59 ad@r & fov yged FARh hae @ gfdsrer gidr &
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The impedance of coaxial cable used for TV

(@ 75 ohms
(b) 500 ohms
(c) 300 ohms
(d) 10 ohms

60  fFToli@d 31T 3R Soohd TIH ITHETOT arell ikl T Tgared
Identify the device having the following Forward and Reverse bias characteristics.

1

(@ SCR
(b) DIAC
(c) Zener Diode
(d) FET
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